ERIFY | PERFORMANCE DATA
2RSSR | F #RiB% , BERATE , FRIZEE S.F.1.15, A& 40°C, 220V/380V, 60Hz

KEEBHRME IE2 RFEE F BZERE

ANTATUNG

4

roup

Totally Enclosed Fan Cooled, Squirrel Cage 3-phase 60Hz, Meet CNS 14400-2012 IE2 Efficiency

B EEEE %M - £ IEC (International Electrotechnical Commission) 7€ BIBEE RS » EFEE &

‘io

- eyl F B — SRS TR - TS F RBEME  R2TAE0RE -
B | fAE| P |Tuor | Em | Bk | AR Ll | 2L L W SRR - AREIREM/N  INREE KR - BB « FIERERE - WNES)  EIHEB o #SETIRe E TERE -
- -R.C. o o o o o o . A W P N - = o o
L 220V | 220V ROTOR(%) | DOWN(%) OAD | LOAD | LOAD | LOAD W IRE) - BE/)N - BEEERET e M TEAVER » BBV #EIREEIEE -
{Jorsl s Leon oo [ ie | o [ios Lom [ om | an Leso Lo [z [es | 10 | oo B RS -Fr225( 8 ) LT - RABATHWE  FARRMRE | RIE - E
. - - - - - - - - - . = A IN ALY =9 AL 3
1 |075]| 6 90L | 1150 2.2 3.8 247 | 064 260 290 815 | 817 | 793 | 635 | 545 | 415 BNAKE -8R MELRERS  ERREEL - O-l-or
2 [ 15 ] 2 90L | 3480 3.0 5.2 467 | 042 370 310 845 | 852 | 84.0 | 895 | 855 | 77.0 d
2 |15 | 4 0L | 1720 3.4 5.9 423 | 085 290 320 855 | 860 | 84.8 | 775 | 70.0 | 58.0 Ht N :
2 |15 ] 6 | 1o0L | 1150 3.6 6.2 40.2 1.27 280 300 865 | 881 | 864 | 735 | 66.0 | 53.0 %&E753 Mounting Arrangements U nlf
3 2.2 2 90L 3460 45 7.7 70.1 0.62 300 250 855 | 862 | 855 | 875 | 83.0 | 73.0 Horizontal Shaft
3 | 22| 4 | 1o0L | 1735 43 7.4 62.7 1.24 360 370 875 | 884 | 874 | 890 | 855 | 775 j( |=J 1E %& %ﬂ ? :;
3 [ 22] 6 | 112m | 1160 5.6 9.6 67.0 1.85 270 360 875 | 87.7 | 863 | 685 | 605 | 48.0 . - oy X 280\
5 | 37| 2 | 112m | 3495 7.2 12 115 1.03 250 340 880 | 882 | 872 | 885 | 855 | 78.0 ” H £ 1l =y AE
5 | 37| 4 | 112m | 1740 7.8 13 112 2.07 290 310 885 | 896 | 884 | 815 | 765 | 655 u u
5 | 37 | 6 | 132S | 1160 8.3 14 95.1 3.11 200 300 885 | 887 | 874 | 765 | 705 | 59.0 — TATU NG HIGH EFFICI ENCY IN DUCTION MOTOR @
75 155 ) 2 | 132S | 3500 | M 19 128 | 153 | 240 270 | 885 | 891 | 884 | 880 | 865 | 820 B3 IM 1001 B5 IM 3001 B6 IM 1051 B7 IM 1061 B8 IM 1071 B14 IM 3601 B17 IM 2302 K A = kdE SEE
75 | 55 | 4 | 1328 | 1755 12 20 131 3.05 230 260 89.5 | 893 | 87.7 | 800 | 750 | 655 Foot mounted. 'D' type flange at  Foot wall mounted Foot wall mounted Ceiling mounted. 'C' type flange at or IM 2202 2'C' or ‘r\__l' (=) CNS‘I 4400'201 2 IE2 ﬁ *,—_T: /_|_
75 | 55 | 6 132M | 1155 12 20 144 4.64 230 290 90.5 | 910 | 904 | 78.0 | 715 | 60.0 oA D.E. No feet. with feet on left- with feet on right- with feet above D.E. No feet. 'D' type flanges.
10 | 75 | 2 | 1328 | 3500 14 25 163 2.09 230 240 895 | 904 | 894 | 885 | 87.0 | 83.0 BASUHIZE < gsisscase . hand side when hand side when motor. NP Foot mounted. _='T§jz SE . {EE g :EIZ . {EE }E E}J . 'ﬂg_.’é‘ 'El_é:
10 | 75 | 4 | 132M | 1755 15 26 170 4.16 210 240 90.7 | 90.7 | 89.7 | 830 | 775 | 67.0 E%Di&éﬁﬁ“ " viewed from D.E. viewed from D.E. B\t B R TR ;Eéiﬁéﬁ%’f%ﬁ BISLEE C/D AR g S " =TS = = e A
10 | 75 | 6 | 160M | 1160 16 27 178 | 6.30 220 230 | 905 | 912 | 904 | 795 | 755 | 66.0 BAIBEIEZEE (4 BARIALIEZR o 25 (3 IM2202C = ﬁ::ﬁ %% |:||§ ( DOC ) NVLAP *E A8 5 .%2,‘15‘:
15 1 2 160M 3530 20 35 262 3.04 220 310 90.7 90.9 89.8 91.0 90.0 86.0 I EMWITAE ) (#REhimEMWEE) / 1IM2202D) % =J] =% TA F = Eo =
15 | 11 | 4 | 160M | 1755 21 37 240 6.10 180 200 917 | 919 | 910 | 86.0 | 820 | 73.0 ! Al a2 B = ISA 9001
15 | 11 | 6 | 160L | 1160 23 40 261 9.24 230 270 91.0 | 917 | 90.9 | 790 | 740 | 64.0 Vertical Shaft BSMI
20 | 15 | 2 | 160M | 3530 28 48 341 4.14 210 300 90.7 | 912 | 90.6 | 905 | 895 | 855 y
20 | 15 | 4 | 160L | 1755 29 50 325 8.32 210 240 927 | 932 | 926 | 850 | 81.0 | 72.0 s
20 | 15 | 6 | 180M | 1170 31 54 349 125 210 250 91.0 | 920 | 90.9 | 805 | 755 | 645 CERTNO.3ATYO02
25 | 185| 2 | 160L | 3535 34 59 532 5.10 290 320 915 | 915 | 90.7 | 895 | 87.0 | 805
25 | 185| 4 | 180M | 1765 36 62 404 10.2 190 220 930 | 933 | 928 | 840 | 805 | 715 T‘ @
25 | 185| 6 | 180L | 1175 38 65 488 15.3 210 260 917 | 921 | 916 | 81.0 | 76.0 | 65.0 150 9001
30 | 22 | 2 | 180M | 3540 41 71 461 6.05 210 260 915 | 916 | 90.8 | 89.0 | 88.0 | 845 BUREAU VERITAS
3 | 22 | 4 | 18M | 1765 | 43 74 | 483 | 124 | 200 210 | 930 | 936 | 929 | 835 | 815 | 745 ‘g tIM 3‘f’l11 t ‘\IID?"tIM 3?'31 t 35*"" 1|(fmt Wall xsr:_"' 1|(f)31t Wall ‘g? IM :;611 . ‘g? IM :;631 t ‘S’izrt M 831t'1 certfiaton
30 | 22 | 6 | 180L | 1175 44 77 520 18.2 210 280 920 | 926 | 919 | 820 | 77.0 | 665 ype Tlange a ype riange a ertical foot. Wa ertical foot.Wa ype Tlange a ype flange a irt mounting
40 | 30 | 2 | 180L | 3540 | 56 % 625 | 825 200 280 | 920 | 925 | 919 | 89.0 | 89.0 | 855 r'?(‘)Efé:tr_‘aﬁ down, rl?éEféSthaﬂ up, gr?:frt]tgg\;vn. gr?:frt]tfs.' E(')Efégtr_‘aﬂ down, rl?(.)EféStr-waft UP, fg?:e(tj_ow”’
40 | 30 | 4 | 180L | 1765 60 104 675 16.6 200 230 930 | 935 | 929 | 815 | 785 | 70.0
40 | 30 | 6 200L | 1180 60 104 675 248 230 250 930 | 935 | 929 | 815 | 78.0 | 69.0 UREE TN DR wRXEmLE D& EET 0 WA S7TIERA L 0 BEL BRI 0 CEY yREmLE - CR SIREET 0 M
50 | 37 | 2 | 200L | 3545 68 118 831 10.2 180 310 927 | 929 | 923 | 89.0 | 87.0 | 820 ERIRER ERRER IEERES (EEES ER R ERRE RS
50 | 37 | 4 | 200L | 1765 70 121 799 20.4 260 270 933 | 937 | 933 | 86.0 | 845 | 79.0
50 | 37 | 6 | 200L | 1180 74 128 861 30.5 270 280 930 | 934 | 929 | 815 | 77.0 | 67.0
60 | 45 | 2 | 200L | 3545 83 143 958 12.4 170 280 930 | 934 | 929 | 885 | 875 | 845
60 | 45 | 4 | 200L | 1770 87 150 979 24.8 180 250 940 | 944 | 939 | 840 | 810 | 735
60 | 45 | 6 | 2255 | 1180 87 151 1020 | 37.1 240 250 936 | 942 | 935 | 835 | 80.0 | 715
75 | 55 | 2 | 2255 | 3550 | 100 172 1537 | 15.1 210 320 930 | 931 | 924 | 900 | 885 | 83.0
75 | 55 | 4 | 2255 | 1770 | 103 178 1254 | 30.3 170 270 941 | 947 | 940 | 860 | 820 | 735 N " . .
75 | 55 | 6 | 250S | 1185 | 107 184 | 1330 | 452 270 270 | 938 | 942 | 938 | 835 | 790 | 695 (5) l%i%%%nﬁ Motor Business Unit
100 | 75 | 2 | 2508 | 3570 | 135 232 1596 | 20.5 150 230 936 | 939 | 934 | 905 | 895 | 855 (5) e . ; n
100 | 75 | 4 | 2508 | 1775 | 136 | 235 | 1530 | 412 | 190 220 | 945 | 948 | 944 | 885 | 875 | 835 (5) @TATUNG R = (s X AR 352 5 TEL : (02) 8676-6888 ( {55 )
100 | 75 | 6 | 250M | 1185 | 143 248 | 1609 | 61.6 230 210 941 | 950 | 940 | 845 | 820 | 745 ~ 352 Shi-tong Rd., Sanhsia, New Taipei City 23743, Taiwan, R.O.C.
125 | 90 | 2 | 250M | 3575 | 163 281 2032 | 245 170 220 945 | 947 | 942 | 89.0 | 87.0 | 815 Website: www.tatung.com
125 | 90 | 4 | 250M | 1775 | 163 281 2004 | 494 310 340 945 | 951 | 944 | 89.0 | 875 | 825
125 | 90 | 6 | 280S | 1185 184 318 | 2065 | 74.0 180 220 941 | 946 | 940 | 790 | 740 | 63.0 (5)
150 | 110 | 2 | 280S | 3575 | 203 350 | 2414 | 30.0 170 280 947 | 944 | 932 | 870 | 845 | 775 (5) . L
150 | 110 | 4 | 280S | 1780 | 203 351 2470 | 60.2 240 250 950 | 950 | 943 | 865 | 84.0 | 77.0 (5) E¥zia - KINHRTE - WESER
150 | 110 | 6 | 280M | 1185 | 213 368 | 2394 | 904 180 230 950 | 953 | 949 | 825 | 79.0 | 695 o LftEEE o LrEEL | AT ER IO 4 8 1916 2
175 | 132 | 2 | 280M | 3575 | 236 407 | 3178 | 36.0 220 290 95.0 | 949 | 941 | 895 | 875 | 82.0 ) . . L
175 | 132 | 4 | 280M | 1780 | 241 417 | 2990 | 722 230 240 950 | 950 | 943 | 875 | 865 | 815 BILRBERL : BdemPILIEE 3 B 22 5 BAE ¢ 04-23591262, 35005266
175 | 132 | 6 | 3155 | 1185 | 254 439 | 2856 108 190 220 950 | 953 | 949 | 830 | 805 | 73.0 (5 et 1 02-25925252 #3333, 2930, 2940 02-25984424 BH : 04-23593764
200 | 150 | 2 | 3158 | 3575 | 262 - *2459 | 40.9 260 310 952 | 954 | 950 | 915 | 905 | 87.0 (5 HE : 02-25936062 - o .
200 | 150 | 4 | 3158 | 1780 | 270 - 1972 | 82.1 220 230 950 | 951 | 944 | 89.0 | 885 | 855 (5) e ZEETUh ZETBAK 546 5 —
200 | 150 | 6 | 315M | 1185 286 - “1856 | 123 210 210 950 | 954 | 949 | 840 | 825 | 765 AL EREARD - Fibm = REZ R 352 5 BaE ¢ 05-2856431
250 | 185 | 2 315M | 3575 326 = *2877 | 504 150 360 954 | 955 | 949 | 905 | 89.0 | 84.0 E:E 1 02-86761101~4 BE 1 05-2859244
250 | 185 | 4 | 315M | 1780 | 332 = 3022 | 101 200 280 958 | 96.0 | 957 | 885 | 86.0 | 805 B 02-8676184] .
250 | 185 | 6 | 315LS | 1185 | 359 = 2526 | 152 190 250 955 | 957 | 953 | 820 | 795 | 725 (5) e BMESTIL - AEMAEEPIEER 502 5 ‘
270 | 200 | 2 | 315LS | 3575 | 356 - 3016 | 54.5 160 260 954 | 958 | 953 | 895 | 89.0 | 865 (5) o BEHETIL | HEER ISR 145 %8 BT 06-2532291, 2531856 M ~
270 | 200 | 4 | 315LS | 1780 | 363 - 3008 | 109 170 260 958 | 959 | 957 | 875 | 86.0 | 81.0 (5 =it 3. S 04 ’
270 | 200 | 6 | 315LL | 1185 | 386 - 2616 | 164 220 270 955 | 956 | 953 | 825 | 785 | 695 ;g : 82_:2:;1?:' 7580907 M2 06-2538196 FRAME SIZE : 80M ~ 315LL
== —_ —_
Note: 1. SERTT £/ IEEE 112 BI5%% B B, CNS 10919 1. Test method based on IEEE 112 method B, CNS 10919. o SIfEEYL : BIFEHERE S 499 5%
2. bttt AR ESER - 2. All data shown above are tested values for reference only. o MIFETYL | PkEISSFHETHPER 18 185 EB5E 1 07-2363121, 2363122
3. SEME(ER S CNS 14400-2012 IE2 B - 3. Min. efficiency in accordance with CNS 14400-2012 IE2. EEE : 03-4584027~29 @ 07-2362674 CLASS F INSULATION SYSTEM
4. 200HP( & ) DI #5380V DI LB - 4. Only 380 volts and above available for 200HP and above. o
5 MERBLEUXNEERTE » 5. For vertical motor frame size, please see the dimension table. BH © 03-4576734
6. FMHEEREE , BARBITIBA - 6. All data shown above subject to change without prior notice.
* |thA 380V Z ERENETR © % This value is for 380V.
RRDG-100025 R1 2014




IE2 25I5MERTE
EAX 2 ZEF4MNHE! HORIZONTAL TOTALLY-ENCLOSED FAN-COOLED

BEIER #100L 2 BeAR A8
L AC (#100L~112M) L RIRAZKFERLE15° | AC |
_E| AD \ _E| AD 112M
ED ED | #100L
N . &
Bl | =il o ®T W 2
éiiélJi 2 B < m = J
- T iia=x W IJ o T %l
N T m i T e - :f
B |]c KK A AE_|M | T B KK AE _|AA|
BB 4-GK A BB 42K /|l A
HOLES AB F HOLES AB
7T DHTAP
FIG.1 <’7/[ ) FIG.2
5] D— ©
L AC @D AC
_E| AD AD
D) |
i % J [
— T £ =
i{%%ﬂ) =/u 2 =yl .
——— I / T N :l
L B Jlc KK/ |_YAE | mal]] KK AE | M|
BB 49K A 4-9K A
HOLES AB HOLES AB
FIG.3 FIG.4
R~F DIMENSION (mm)
80M 0.75 0.75 — 1 125 | 100 | 50 10 35 | 155 | 180 | 146 | 118 | — | 130
90L 1.5,2.2 1.5 0.75 140 | 125 | 56 10 | 40 | 176 | 207 | 164 | 134 | — | 149
100L — 22 15 2 160 | 140 | 63 12 40 | 196 | 223 | 183 | 155 | — | 176
112M 37 37 2.2 190 | 140 | 70 12 40 | 220 | 243 | 183 | 155 | — | 168
1325 5575 55 37 216 | 140 | 89 12 50 | 260 | 285 | 225 | 179 | — | 175
132M — 75 55 3 216 | 178 | 89 12 50 | 260 | 285 | 225 | 179 | — | 213
160M 1,15 1 75 254 | 210 | 108 | 145 | 60 | 308 | 324 | 275 | 230 | — | 250
160L 18.5 15 1 254 | 254 | 108 | 145 | 60 | 308 | 324 | 275 | 230 | — | 294
180M 22 18.5,22 15 279 | 241 | 121 | 145 | 60 | 324 | 398 | 340 | 275 | 825 | 286
30 — —
180L = 0 I A 279 | 279 | 121 | 145 | 60 | 324 | 398 | 340 | 275 | 825 | 324
200L 37.45 — — 318 | 305 | 133 | 185 | 80 | 378 | 442 | 353 | 305 | 80 | 360
— 37,45 30,37 :
2255 55’ 5_5 4_5 5 356 | 286 | 149 | 185 | 80 | 430 | 490 | 432 | 345 | 895 | 325
2508 75’ ;5 % 406 | 311 | 168 | 24 90 | 490 | 500 | 512 | 394 | 111 | 412
250M ﬁ) 970 ; 406 | 349 | 168 | 24 90 | 490 | 500 | 512 | 394 | 111 | 412
6
280S 11_0 10 % 457 | 368 | 190 | 24 | 110 | 560 | 560 | 540 | 424 | 135 | 484
280M 112 1;2 170 457 | 419 | 190 | 24 | 110 | 560 | 560 | 540 | 424 | 135 | 484
150 — —
3158 = 150 3 508 | 406 | 216 | 28 | 140 | 630 | 680 | 580 | 455 | 120 | 480
185 — —
315M e 55 150 ; 508 | 457 | 216 | 28 | 140 | 630 | 680 | 580 | 455 | 120 | 530
200 — —
315LS — 200 55 508 | 560 | 216 | 28 | 140 | 630 | 760 | 735 | 566 | 165 | 632
315LL — — 200 508 | 710 | 216 | 28 | 140 | 630 | 760 | 735 | 566 | 176 | 782

EER

LS "H RHAZE

* 80M ~ 250M +0, —0.5 ; 280S ~ 315LL +0, -1 °

2. BT D" RTRIAZE ¢ HESR 80M ~ 112M 7% j6 & HE5R 132S ~ 180M /4 k6 + HE5E 180L ~ 315LL %% m6 °

3. 2 MBERMEMEER  HHNEEFSMMRFRRTSME (1E5% 2258 L) -

NBEREE  BASITEA -

ED
[ —
= e |/
= T
o : =
£
%,H ‘ KK
4-0K A B C 8-0K
HOLES AB F BB HOLES
—H DHTAP
FIG.5 . (E 0 FIG.6
L ) L ‘
\ ks :
%A E E
== |- ‘
= = —
== 5 i
N ——rt i [
BA || | BA
B € B C
BB BB
FIG.8
80 8 | 169 | 35 |@22| 274 | 19 | 40 | 30 | 6 | 155|215 | M6X12L | 6204ZZ | 620477 16 80M
9 | 10 [ 190 | 45 | @22 | 327 | 24 | 50 | 40 | 8 | 20 | 27 | M8x20L | 62052z | 62052z 26 90L
100 | 12 | 246 | 85 | @28 | 378 | 28 | 60 | 50 | 8 | 24 | 31 |M10X25L| 6206ZZ | 6206ZZ 38 100L
112 | 12 [ 274 | 95 | @28 382 | 28 | 60 | 50 | 8 | 24 | 31 |M10x25L| 62072z | 62062z 44 112M
132 | 15 | 316 | 112 | @35 | 450 | 38 | 80 | 65 | 10 | 33 | 41 |[M12x25L| 63082z | 6208z 70 1325
132 | 15 [ 316 | 112 | @35 | 488 | 38 | 80 | 65 | 10 | 33 | 41 |M12x25L| 6308zz | 62082z 85 132M
160 | 18 | 373 | 120 | @52 | 603 | 42 | 110 | 90 | 12 | 37 | 45 [M16x36L| 631022 | 62082 130 160M
160 | 18 | 373 | 120 | @52 | 647 | 42 | 110 | 90 | 12 | 37 | 45 |M16x36L| 631022 | 620822 142 160L
180 | 20 | 440 | 105 | @63 |6765] 48 | 110 | 90 | 14 | 425|515 | M16x36L| 631022 | 6210ZZ 190 180M
63122ZC3 | 62122zC3 220
5 X
180 | 20 | 440 | 105 | 063 | 7145 55 | 110 | 90 | 16 | 49 | 59 |M20X42L — oo o5 180L
7725| 55 | 110 | 90 | 16 | 49 | 59 63122ZC3 | 62122zC3 300
X
200 20 | 486 | 130 | @63 o051 60 | 140 | 110 | 18 | 53 | 64 | M2OX42L Teaiazz | 62122z 300 200L
829 | 55 | 110 | 90 | 16 | 49 | 59 6314ZZC3 | 631222C3 370
X
2251 25 | 541 | 145 1 091 moro 65 | 140 | 110 | 18 | 58 | 69 | M20*42L [e31azzc3 | 631222C3 365 2258
912 | 55 | 110 | 90 | 16 | 49 | 59 — 465
250 | 35 | 574 | 102 |@M8 o o o e e (708 — 6316ZC3 | 6316ZC3 510 2508
912 | 55 | 110 | 90 | 16 | 49 | 59 — 540
250 | 35 | 574 | 102 |@M8 o ot T o0 675 798 — 63162C3 | 63162C3 50 250M
1058 | 55 | 110 | 90 | 16 | 49 | 59 — 6316ZC3 | 6316ZC3 670
280 | 35 | BS5 | 41 OB e e 170 | 140 | 22 | 76 | 90 — 6318ZC3 | 6316ZC3 670 2808
1058 | 55 | 110 | 90 | 16 | 49 | 59 — 63162C3 | 63162C3 740
280 | 35 | 685 | 141 1@ e es [ 170 | 140 | 22 | 76 | 90 — 6318ZC3 | 63162C3 770 280M
1166 | 55 | 110 | 90 | 16 | 49 | 59 — 6313C3 | 6313C3 1155
3151 35 | 767 1 95 1O18 o o5 | 170 | 140 | 25 | 86 | 100 — 6320 6318 1100 3158
1218 55 | 110 | 90 | 16 | 49 | 59 — 6313C3 | 6313C3 1170
315 35 | 767 | 95 |O118 - are T o5 | 170 | 140 | 25 | 86 | 100 — 6320 6318 1170 Gk,
11350 55 | 110 | 90 | 16 | 49 | 59 — 6314C3 | 6313C3 1595
3151 35 | 755 | 40 I PRA el o5 | 170 | 140 | 25 | 86 | 100 — 6320 6318 1670 318LS
315 | 35 | 755 | 40 |PF4"|1575| 95 | 170 | 140 | 25 | 86 | 100 — 6320 6318 1950 315LL

Note - 1. Tolerance of dimension "H" : 80M ~ 250M +0, -0.5 ; 280S ~ 315LL +0, -1.

Drawing No.: D33-03630
2. Tolerance of dimension "D" * 6, for frame 80M ~ 112M ; k6, for frame 132S ~ 180M ; m®6, for frame 180L ~ 315LL .

3. 2 pole motors are used for direct coupled service only. Customer must specify pulley details while belt driving required for Fr.225S and larger.
> All data subject to change without prior notice.

IE2 RFIIMER~TE
AR EZEIMNEE VERTICAL TOTALLY-ENCLOSED FAN-COOLED

AC REIER AC
wsl  [e100L~180L) HB
d’ % +
S ) o
my, I
1 LIJ{ E{ I.IJI J\E’ LUL
ONj6
o aﬁFk DHTAP .
— oP
KK
4 @D KK
[m)]
7 2
7 w 2
% o :
- / 1°(#112M) 225 O
[$)8 v
25
4-95 508
HOLES -
HOLES
80M~180L 200L~315LL
R~f DIMENSION (mm)
soM | 075 | 075 | — | 180 |46 |118| | |296 12| . | 19]40]30] 6 155215 MexiaL
oL |1522| 15 | 075 | 207 |164 127 327 | 10 © 24 50|40 8 | 20 | 27 | m8x20L
100 | — | 22 | 15 | 223 183155 146 378 | 15 28 50 | 8 | 24 | 31 | M10X25L
028 215 180 | 250 60
M2M | 37 | 37 | 22 | 243 |183] 155|152 382 | 11 s | 4 28 50 | 8 | 24 | 31 | M10X25L
1325 |55,75| 5. 7 4 ' 1 M| M12x 250
325 18575 55 | 3 286 | 225 179|184 | @35 20| 12 | 265 230 | 300 38 g B2 10 38 >
132M | — | 75 | 55 488 38 65 | 10 | 33 | 41 | M12x25L
160M | 1,15 | 11 75 603
27 | 275|230 | 213 | @52 1 2 42 12 | 37 | 45 | M16x36L
el o5 11 e 51230 213 | @52 |- 19 |300 | 250 | 350 37 | 45 | 1636
180M | 22 |18522] 15 676.5 48 |110| 90 | 14 | 425|515 M16X36L
= - 45| 285 | 2
D 390|345 285|260 | @63 | . | 15 |350 300 400 o 6| 25 | 50 | Mo0xazL
— | 30 | 1852
37,45 | — - 7725 185 55 |110] 90 | 16 | 49 | 59
200L 442 1]2 19 | 4 4 M20 X 42L
0L 7,45 | 30,37 365 301288 | 063 gy | 19 | 400|350 450 60 | 140| 110| 18 | 53 | 64 | 20
55 | — — 8285 55 [110] 90 | 16 | 49 | 59
2255 | o | 48T |47 a5 {312 oot | s "o a0 110 18 | es | og | M2OX42L
| 22 | 500|450 | 550
ot | 7590 | — — | so0 |12 ]394 | 321 912 55 10| 90 | 16 | 49 | 59 | —
— [ 7590 | 55,75 942 75 |140] 110| 20 |67.5|795| —
10,132] — = 10595 55 |110] 90 | 16 | 49 | 59 | —
280M 530 | 536 | 425 | 350 | @118
— [110,132] 90,110 12195 85 |170|140| 22 | 76 | 90 | —
150, 185] — = 1255 600 550} 660 55 [110| 90 | 16 | 49 | 59 | —
35M [ 620 | 580 | 456 | 380 25 24
—[150, 185] 132, 150 1315 95 |170|140| 25 | 86 | 100 | —
200 | — — 1503 55 [110] 90 | 16 | 49 | 59 | —
315LL 720 | 725|570 400 | PF4" 740 | 680 | 800
— | 200 | 185200 1563 95 |170]140| 25 | 86 | 100 | —
7 O ARBERERE  BABITEA -

Note * All data subject to change without prior notice.



